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Double Angle
Sin2x = 2SINn XCOS X
21
tan 2x = an;c
l-tan® x
cos2x = cos” x —sin” x
=2cos’*x-1
—1-2sin*x
5.4 Multiple Angle Identities
Half Angle
sin > = + 1-cosx tan—: /1 COS X
2 2 1+ cos x/
1= 1-cosx
sin x

Sin x
cosx—+ /1+cosx - "

x




January 25, 2017

Use the half angle identities to find the exact value without a
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Sin (F$-30)

. 2 .
Prove: (smx+cosx) =1+sin2x
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SIN' X + Siaxcosx + StnxcoS TCos X
|+ 2 sinxCosx
| + sin X
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2tan x .
— =8I 2x

1+tan® x

7 fanx JtanX . |
Sect T\ s

2
- zmv\Kcon
=2 sinx oS X

COXX

Z2s(nxCeSX

=<pn2x

. £y <217
Sco)lve the equation: [0 //ﬂﬂ g >)<< = 2u0
sin2x+cosx =0
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